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Factoring 𝒙𝟐 + 𝒃𝒙 + 𝒄 

∗ Make a Chart and Check ALWAYS!   

𝐴𝑥2 𝑃𝑟𝑜𝑑𝑢𝑐𝑡  𝑜𝑓 𝑐 𝑆𝑢𝑚 𝑜𝑓 𝑏𝑥 
   

 

Factor each Binomial and check with Pundit Square  

Ex1) 𝑥2 + 11𝑥 + 18 

 

 

 

Ex2)  𝑎2 − 7𝑎 + 10 

 

 

 

Ex3)  𝑦2 + 2𝑦 − 15 

 

 

 

 

Ex4)  𝑤2 + 6𝑤 − 16 
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Ex5)  𝑏2 − 6𝑛 + 8 = 0 

 

 

 

 

Ex6) 𝑦2 − 15 = −2𝑦 

 

 

 

 

Ex7)  𝑔(𝑥) =  𝑥2 − 8𝑥 + 12 

 

 

 

 

 

Ex8)  (𝑎 + 6)𝑎 = −8 
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Ex9)           Area = 20 sq units 

       m 

     

 m+1 
 

 

 

 

 

Ex10) A rectangle with a length that is 1 more than its width, has an area of 20 sq units. What is the 

Length and Width? 

 


